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CTET-1 CDP Memory Based Questions

‘Development precedes learning’ is a
statement attributed to
Ans: Jean Piaget

A child frequently talks to himself when he
plays with other children and explores the
environment. According to Vygotsky, this
type of speech is known as

Ans: Private speech

It is a process in which a child uses an
existing schema to deal with a new object or
situation.

Ans: Assimilation

Kohlberg has given
Ans: The stages of moral development

Vygotsky emphasized the significance of the
role played by which of the following factors
in the learning of children?

Ans: Social

Who was the chairman of the NEP 2020
drafting committee?
Ans: Dr. K. Kasturirangan

Which of the following principle suggests
that different body parts develop at different
rates at various stages of development?
Ans: The direction of development is
proximodistal and cephalocaudal

Which of the following statements is
correct?

Ans: Children's development takes place in
a socio-cultural context.
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CTET-1 English Memory Based Question

Q1. Asateacher what should be done to
highlight the positive image of girls-
Ans: To promote their abilities and
motivated

Q2. Which of the following is not a correct way
to stop gender inequality?
Ans: By setting different gender roles and
duties

Q3. Gifted children are also called-
Ans: Talented children

Q4. Whatdoes CLIL stand for?
Ans: Content and Language Integrated
Learning

Q5. Which of the following statements is
correct?
Ans: Receptive vocabulary is words we
recognize when we hear or see and
productive vocabulary are words we speak
or write.

CTET-1 Hindi Memory Based Question

Q1.  STUST FITAT & UL F=AT IT =T

Q2. =3 & UATIATHT
Ans: TaT

Q3. TTHTHET F | fA=wE -
Ans: TTH + AT (ST 1)

Q4. ‘UeA F fa®TH F AL H T agGT IT IR &
AT BT STAT B S| steawy 7 gt JeT-
ST GfeaT I it ATAT &, T SE FAT Fgl
ST 8 —
Ans: STSETEAT FLT
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CTET-1 Mathematics Memory Based

Question

1,9, 25,49,7, 121
Ans: 81

The area of the parallelograms ABCD and
ABEF are equal, if their heights be h&p
respectively then-

Ans: h=p

The area of a square is 1600 m square, the
side of the plot is-

Ans: 40m

Self assessment in mathemetics will
improve learning because it-

Ans: motivates the student, construct their
own understandings and know how to use
assessment information and improve
performance

CTET-1 EVS Memory Based Question

There is a place in our country called the
cold desert. This area is high, dry and flat.
This area is in

Ans: Leh (Ladakh)

Consider the following statements about
elephants and tell which of the following
statements are true?

A. Elephants do not rest much, they sleep 2
to 4 hours only in a day.

B. An adult elephant can eat more than 200
kg of leaves and twigs in a day.

C. They love to play with mud and water, the
mud keeps their skin cool.

D. In the elephant herd, the oldest female
elephant decides everything.

a.A,Band C

b.B,Cand D

c.C,Dand A

d.A, Band D
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Q8.
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Ans: (c)C,Dand A

The three neighbouring states surrounding
Mizoram are -
Ans: Tripura, Assam and Manipur

Which one of the following birds species has
eyes in-front of its head like in human
beings?

Ans: Owl

Name a bird which has the following
characteristics, “A crown on the head and
coins on the tail, so many shades of blue
from top to tail”.

Ans: Peacock

Select from the following the correct
sequence of growing the onion crops:

A. Sowing the seeds

B. Weeding

C. Cutting the dried leaves from the top of
the onion

D. Digging to loosen the soil

E. Plucking the onion out

Ans: D, A B,E, C

Right to Education Act 2009, recommends
the learning through the mother tongue.
Ans: Up to VIII standard

I do cuckoo what is my name?
Ans: koel

A group of three eatables each member of
which is rich in iron is
Ans: Spinach, amla, and Jaggery

A set of three Indian festivals celebrated on
the full-moon day is

Ans: Holi, Rakshabandhan, Guru Nanak
Birthday
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